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32 0.53 0.85 0.62

33 0.54 0.84 0.65

34 0.56 0.83 0.67

35 0.57 0.82 0.70

36 0.59 0.81 0.73

37 0.60 0.80 0.75
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@3 cos 36° = 2.44

cos 36° = 0.81 ©] 2.2 3cos 36° = 2.43 ot}




5. oS 283} Zo] HOREE 10m =old 9= 771E T

A, BolA 3ot & L7t 242F 50°, 55° 4 o], ths A
ol-g3ste] F A4 A, B Atole] A E?

—_

2tz sin cos tan
35 0.5736 0.8192 0.7002
40 0,6428 0.7660 0.8391

D 7.002m @ 8.192m ® 14.088m
@15.393m ® 15.852m
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AH = 10 x tan 40° = 8.391( m)
BH = 10 x tan 35° = 7.002( m)
w2tA] AH + BH = 8.192 + 7.002 = 15.393(m) ©]t}.
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